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Paketverlust in regelmaRigen Abstanden bemerkbar.



Traceroute:
Routenverfolgung zu pathofexile.com [104.19.185.16]
Uber maximal 30 Hops:
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easybox.local [192.168.08.1]
ip53a9b77f.static.kabel-deutschland.
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ip5886eb6b.static.kabel-deutschland.
ip5886edfe.static.kabel-deutschland.
ip5886eda3.static.kabel-deutschland.
de-cix-frankfurt.as13335.net [80.81.
104.19.185.16
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Ablaufverfolgung beendet.
C:\Users\TimmG>tracert pathofexile.com

Routenverfolgung zu pathofexile.com [164.19.185.16]
Uber maximal 306 Hops:

1m ] easybox.local [192.168.06.1]
ip53a9b77f.static.kabel-deutschland.
ip5886eb6b. ic.kabel-deutschland.
ip5886edfe.static.kabel-deutschland.
ip5886eda3 .kabel-deutschland.
de-cix-frankfurt.as13335.net [80.81.
164.19.185.16
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Ablaufverfolgung beendet.



